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2AM: StEEAR L
B AT X0 AY BX U 4o B a4
el X AT AYEX (SHol: @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 5,320
09 HALAHIEA S 5,360 5,360 0
OLISLEHH 2 243
5,360,000 » 14! 5,360
| 2,680
= 804
Al 1,876
MIEE43 9,840 9,840 0
OLIsALMH 22 =2(1Y)
820,000 x1H «12& 9,840
J| 4,920
= 1,476
Al 3,444
307 21201 A 3,500 3,500 0
| 1,750
= 525
Al 1,225
01 2L =l 3,500 3,500 0
OIS AZEN Y2UE Y
35,000& 100X 3,500
| 1,750
= 525
Al 1,225
FAAHLSEEH 203,420 94,140 109,280
| 99,550
< 29,865
Al 74,005
101 1A dl 99,000 53,000 46,000
| 49,500
< 14,850
Al 34,650
M4 JI2ZHZEXNSES 99,000 53,000 46,000
OBMNHLSTHEHESYE M3 (4Y)
99,000,000 * 14! 99,000
| 49,500
< 14,850
Al 34,650
201 Let24d] 75,619 11,660 63,959
| 37,809
< 11,343
Al 26,467
01 At 2teltl 75,619 11,660 63,959
OB+t 75,619
— FAAHLESIHYH 22|
75,619,000 » 14! 75,619
| 37,809
= 11,343
Al 26,467




AN StEEAT A
M NTA FO AL BN Y o B
Sol: XHFD AYSE EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 o4dl 5,685 6,364 AB79
J| 683
< 204
Al 4,798
01 = LH o4 1l 5,685 6,364 AB79
OFMALSTEE 2¢ Kl
272,900 x1H »53] 1,365
J| 683
= 204
Al 478
OFMUAHLSHHEH Mgoldd HHEHAHY (2
J1, J12tA) 20,0003 «6H «33| x12& 4,320
301 et d = 23,116 23,116 0
J| 11,558
< 3,468
Al 8,090
09 BALAHI 243 10,000 10,000 0
OFUALBHUE 2% 242
10,000, 000& 14! 10,000
J| 5,000
< 1,500
Al 3,500
MIIEE4d3 13,116 13,116 0
OFMUALSEHEH N2 =4 (1¥)
1,093,000& x1H «12& 13,116
J| 6,558
< 1,968
Al 4,590
I AMHA 29 96,235 75,304 20,931
101 124 dl 15,701 15,327 374
04 D12t Z2XREES 15,701 15,327 374
O&FA 228 15,701
—Jlas 40,7703 1 254 10,356
- =54 40,7703 + 1 x52 2,121
— ZHAH| 2,000 « 18 #2502 23] 1,000
— ZE S| 200,000 1 »23] 400
— &&=z Zut 40,7703 %30 1,224
—usE2x| 50,000& 122 600
201 LBt 15,616 10,996 4,620
01 At 22l 2,028 2,028 0
Oget=EH| 2,028
— ZALEHl =2l | 350,000& 42 1,400
—SANEEAML DL =2
17,0003 1 x4 3] 68




AN StEEAT A
M NTA FO AL BN Y o B
Sol: XHFD AYSE EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— SN ZHEX BIIBAE
500,000& =12 500
~OXNE AAH BE BE58 07Y
1,000& 60% 60
02 =224l 13,588 8,968 4,620
OA&ZEHlIs X bl 13,588
— S SAMUE/AIELAAEH
594,000& 128 7,128
—OXESMAEHE 330,000& 128 3,960
—SEEMIEFXLH I DA
2,500,000& x13l 2,500
301 et d = 25,518 8,506 17,012
NJEEd=s 25,518 8,506 17,012
O SSEAHAAM = 25,518
—BEBAAN WSS B2
800,000 x2H «12& 19,200
—SSEHYM HHEE =&
100,000& 6 600
—SEEHAA A2t ¢
9,530% 2 x25A] 2t 123 5,718
307 21201 A 36,900 36,900 0
01 922724l 36,900 36,900 0
Oz2tEdAE Al 2 I 700,000 x12& 8,400
OMatatZ AL Al 2 JI A 500,000 x12& 6,000
OO0l A Al 2 I AHTH 850,000 6& 5,100
OSEHAAE Al 2 I 350,000 128 4,200
OZ2ct0ICIor A Al 2 JIXHXH
850,000& »12& 10,200
Oolol=, 89 ZA Al 2 I XX
250,000& 128 3,000
401 Al& I 28I 2,500 3,575 A1,075
01 A& HI 2,500 3,575 A 1,075
OFAL Z0He!l StUAIE &X 2,500
—ZO0HQ EFX HUHAIE & BX SH&X
2,500, 000% 14! 2,500
Az 249 3,400 3,800 A 400
201 Let24d] 400 800 A 400
01 At 22l 400 800 A 400
Oger==EH| 400
—BY 2YBERY(ABS92E)
400,000& x13l 400
307 gl2tol & 1,000 1,000 0
01 222l 1,000 1,000 0




AN StEEAT A
M NTA FO AL BN Y o B
Sel: XeZER AYSH (St &)
= - 4 14
SN HE B (BH) - MR - BES e bl D=2t
ONSHYAE o 22E7Y
1,000,000& *13] 1,000
405 Xt&HE S b 2,000 ,000 0
01 AL EZFH S 2,000 ,000 0
Oz=¢2cdYd 953 ¥
2,000,000 =14 2,000
HALSHY 23 18,601 ,227 374
101 @144 dl 16,301 ,927 374
04 JIZHHZ2XRHEE S 16,301 ,927 374
OAHZEXA BX0R 16,301
— o2 40,7703 1 254 10,356
Fe¢ 40,7703 1«52 2,121
— 2+AlH| 2,000 «1H 250 23] 1,000
— ZE S| 200,000& x 18 *23] 400
—Ws2Ld| 50,000& 128 600
—ozgRg 50,000 12& 600
—EX= 40,7703 1«30 1,224
201 2et24d] 2,300 ,300 0
01 At 22l 1,300 ,300 0
O+t 1,300
—HAY=F) Z2usEE EN7Y
500& *2,600H 1,300
02 =224l 1,000 ,000 0
OA&EHl Sl 1,000
—AUBTA 2SI 22 RN
100,000& *1035 1,000
MeEE22HAS 34,629 ,380 3,249
5,250
29,379
101 @124 dl 720 720 0
03 RIAHAZZ2HE = 720 720 0
OMEIFLE AL 20,0003 «3 122 720
201 Let24d| 23,410 23,410 0
01 At 22/l 23,410 7,470 15,940
Oget==EH| 8,190
—NMEgZzYy 2Y 750
Hez2sdt & E2sHH
1,500 500 750
—MEZZOY FOHXA 2HAH|
2,000& 12«83«10 1,920
—MEgZ20H Ha bl (28)
15,0003 x20E 23| x8& 4,800




AN StEEAT A
M NTA FO AL BN Y o B
Sol: XHFD AYSE EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— NS ML nEH| 5,000& x4& »43|«0H 720
o2g+¢ 15,220
—MHEZ20Y 2% 2A =2 15,220
H&llsed ZA=E
70,000 x2H »43| 9 5,040
CWEEZEOY 2Y BARY
100,000 x2H 43| x9& 7,200
FHME WA 2 A=
70,000 « 18 »23| «7 & 980
CHEE Y SN0 DS BALY
100, 000& *102] 1,000
- HRAUH MHEBEES 28
100, 000& 12 103l 1,000
202 odl 2,789 0 2,789
J| 1,395
Al 1,394
01 SLHOIYI 2,789 0 2,789
olngitgegd= =& ol
20,0003 x5 «1H x 128 1,200
J| 600
Al 600
OMEBSALLEE 220l
264,800 x2H »33] 1,589
J| 795
Al 794
307 21201 A 7,710 7,250 460
J| 3,855
Al 3,855
01 92724l 7,710 7,250 460
OMEEA 4Z L A28 I (LA 2 5F)
1,400,000& *53] 7,000
J| 3,500
Al 3,500
OAZBINIXM L A2E(HYAE 2 535)
710,000& x 13| 710
| 355
Al 355
MHeExzs 22 5,600 5,600 0
201 et 1,600 1,600 0
01 At 22l 1,200 1,200 0
Oget=&H| 1,200
—MExzsd 2288 2 (08 38)
600,000& »23| 1,200
02 =224l 400 400 0
OA&EHl Sl 400
—MHEX=24 Fdl KA 400,000& » 14! 400
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2N
X ZH -
L= B

el

- _ _ RE]
CEE B (BH) - HBAY - BAS %Ei HR=2
J| 150
Al 150
307 2izto| A 25,420 24,420 1,000
J| 7,710
= 5,000
Al 12,710
o1 s =t 25,420 24,420 1,000
OXNGAMNESHLSEAS (XIHEI|ZHA)
15,420,000 = 1Al 15,420
J| 7,710
Al 7,710
OXjagdy 29 10,000 *500 23| 10,000
= 5,000
Al 5,000
403 XX S M S X201 A 182,130 122,480 59,650
J| 91,065
Al 91,065
02 2| &S0l CHSHCH & AF S HI 182,130 122,480 59,650
OXHXIE 2elAg 182, 130,000 = 14! 182,130
J| 91,065
Al 91,065
HESHAL (GIEE2AHXA) 264,122 257,290 6,832
J| 78,550
= 23,565
Al 162,007
SdH| (ot 2 HXA) 157,100 157,100 0
J| 78,550
= 23,565
Al 54,985
DSAMEHE Q2| 93,600 93,600 0
J| 46,800
&< 14,040
Al 32,760
101 Q124 H| 93,600 93,600 0
J| 46,800
& 14,040
Al 32,760
03 RIAHE*ZZXHE = 93,600 93,600 0
OLIEs M4EHEH 29 AIE2d
93,600
J| 46,800
& 14,040
Al 32,760
HAALSEAHE Q1A 63,500 63,500 0
J| 31,750
== 9,525
Al 22,225
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